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Pandit Shiv Kumar Sharma is associated with which musical instrument :

(a) =@/ Tabla (b) faarwSitar
(c) Wr=/Sarod (d) =qvSantoor

10. e |91 1 HeE B o fAu = oy w2
What is the minimum age to become a member of Lok Sabha ?

(a) 21 =d/21 years (b) 25 =H/25 years
(c) 30 =/30 years (d) T 5 =g T&1/None of these

11, TreaTH % R A | Hefid § 2

Rangaswami Cup is associated to which game ?

(a) weama/Football (b) =t/ Volleyball
(c) =T=®I/Hockey (d) ¥ & =g T&i/None of these

12, geaft = ) S 9T H e S HIeqrTw T HAH R 2
What name is given to an imaginary line which divides earth in two equal halfs ?

(@) terrer w@vLatitude (b) T T@VEquator
(c) i T@/Longitude (d) 37 & =¥ E/None of these

13. TaE= T ST W T ATl Tee WRdtg "fEen ®i o 7

Who was the first Indian Woman to conquer the Mt. Everest ?

(a) =@&=rTre/Bachendri Pal (b) =Rt Zamg/Junko Tabei
(c) ¥ erRI/Sherpa Lakpa (d) =7 & =i TET/None of these

14, =ifSfem frg v ¥ fem €2
In which state is Darjeeling located ?

(a) sm\/Assam (b) W. s/ West Bengal
(c) fafsww/Sikkim (d) W ww/Uttar Pradesh
15, fri 9 % 319k =k | el i He

Number of spokes in Ashoka Chakra in a tricolour :

(a) 12 (b) 18
(c) 24 (d) 32
s - 1
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GENERAL SCIENCE
(20 x 2 = 40 7=/ Marks)

ug”rf‘amgw?:

Choose the correct answer :

16. =3 & forea aftasy =1 ey = B ¥ ?

What is the nature of Electric Circuits for domestic use ?

(a) visFa/Series (b) TTeesFA/Parallel
(c) fafaa/Combination (d) = & =g 7Ei/None of these
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26.

T STFAA T G S T giata S e ?
Image formed by a concave mirror is :
(a) smmE/Virtual (b) =m=fa/Real
(c) HtavErect (d) 3 & =g =/None of these

. T i TSt R St T AT e S 2
On which scale loudness of sound is measured ?
(a) wsHertz (b) #M/Mega
(c) Efam@/Decibel (d) T | = E/None of these

Frfrem e & weg = Rerfr 3 wfted= =1 =72 wed ¥ 2
What is called “change in position in a particular direction of an object” ?
(@) ¥ Velocity (b) w=@/Acceleration
(c) ¥=mmm/Displacement . (d) =™ & = T&T/None of these
. T e # frad s en ¥2
How many litres are equal to'one gallon ?
(@) 5 (b) 4.546
(c) 5.125 d) 2.5

R A e e e g ¥ 2
What is the speed of sound in air ?

(@) 325 #W/A/M/Sec. (b) 332 H/A/M/Sec.
(c) 232 H/A/M/Sec. (d) 340 /A/M/Sec.
T TR fie o & o e o s € 2
A moving body may not have which of the following ?
(a) & Velocity (b) TIftm™/Momentum
(c) it St /Kinetic Energy (d). fefrst s=it/Potential Energy

ez amg-rEiTe 1 se] T Y ?
What is the household (common) name of Sodium bi-carbonate ?

(a) 92 =1 =1 HreyWashing Soda (b) @™ = HrevBaking Soda

(c) wremor FHe/Common Salt (d) T ¥ =g 7€/None of these
Tt sTffEe # R H-§ Tl uRafi W ¥ 2
Which of the following materials alters the rate of chemical reactions ?

(a) sr=v/Acid (b) 3STH/Catalyst

(c) am/Base (d) =7 ¥ =1 T&T/None of these
smer™ fagurg # @ S aren g Uy e e 2
Which is the main metal found in the Amalgam.?

(a) racy/Brass (b) fe/Tin

(c) wRI/Mercury (d) =reviron
T ATt T TEEte e R 2

What is the chemical name of laughing gas ?

(a) mafe ememER/Nitric Oxide (b) Tzz® smeRAES/Nitrous Oxide
(c) e WrA-s1rFEES/Carbon Mono-oxide (d) T & =i 7E/None of these

T R ——
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. TETRIST W TETAE 3 =R ?
What is the chemical formula of Glucose ?
(@) C,H,OH (b) CH,.0,
(c) CH,COOH (d) T | =g 7&T/None of these
T T TR T Y FHA-H 2
Which of the following is an allotrope of Carbon ?
(a) AA/Fluorine (b) ¥Tze/Granite
(c) ¥r/Diamond (d) 37 | =g T&T/None of these

Teredrets & Fr-a1 @ oo g s 2
Which mineral is found in Haemoglobin ?
(a) wrewRE/Phosphorous (b) =rEviron
(c) smfE/lodine (d) T & =g 78/None of these

A TR TR e ufe S - et € 2
Which is the largest Gland in the human body ?

(a) =mswae/Thyroid (b) freget/Pituitary

(c) =Fa/Liver (d) =7 5 =g 7E/None of these
R T yonedt = fr § | e Pt s ?
Which of the following controls co-ordinating activities of human body ?

(a) wrw=E/Hormones (b) ¥wEr/Lungs

() Ti/Kidney (d) T™ | #1% T&1/None of these

Ty - i s w2

Which Vitamin is produced by Sunlight ?
(a) frf ‘E'/Vitamin ‘E’ (b) farfi ‘A/Vitamin ‘A’
(c) faafm ‘B'/Vitamin ‘B’ (d) forfem ‘D'/Vitamin ‘D’

Frefafan & | wod s MR wEA L 2
Which among the following is the best source of Protein ?

(a) woEl/Fish (b) ¥/Beans
(c) E=/Apple (d) =/Butter
o AR e et ® 2
Plague is a disease spread by :
(a) w=E/House Fly (b) W=UMosquito
(c) Fw/Dog (d) ==vRat

e faurem Frefafen & fra afFm @ ?
Cell division takes place by which of the following process ?

(a) fe=dfew/Heterosis (b) F=/Fusion
(c) wTERITE/Mitosis (d) ¥ & =12 7El/None of these





[image: image5.jpg]-

Part — lil
v
MATHEMATICS
(15 x 2 = 30 7%/ Marks)
we Taerew o+ :
Choose the correct answer :
36. 10.4 T, 40 TR, =t e whtrera & 2
What percentage of 40 kg is 10.4 kg ?
(a) 26% (b) 24.6%
(c) 28% (d) =7 & =rg T&1/None of these
37. afz 4a° + 1 = 501 ¥ T ‘&’ =1 = A S ?
If 4a® + 1 = 501, find the value of ‘a’ :
(@) 4 (b) 5
(c) 6 (d) T & =1 =i€/None of these
38. X2+ 15X + 56 & =1 TUETS &1 ?
What will be the factors of X2+ 15x + 56 ?
(@) (x=7) (x-8) (b) (x=7) (x+8)
(c) x+7)(x+8) d) x+7)(x-8)

39. 5000 %. T 8% T § 2 W 1 WHRY A 41 & ?
What will be the simple interest of Rs. 5000 at the rate of 8% for 2 years ?

(a) Rs. 1200 (b) Rs. 1000
(c) Rs. 800 (d) Rs. 750

40. T STeHt 2.5 fRAT. 10 faTe # qU AT €1 Suet = fRetex i s aanei |
Find speed in km/hr. if a man completes 2.5 km. in 10 minutes :
(a) 10 feAt. wft sevkm/hr. (b) 15 f#. wfa sevkm/hr.
(c) 12 FwAY. wfa s=vkm/hr. (d) = & =g 781/None of these
41, 9q % I T TR ?
What is the formula for circumference of a circle ?

(a) mr? (b) 2mr
() %m’ (d) 2(m+r)?

42, frfafea fas & X 1 7F =0 g 2
What will be the value of X’ in the figure below ?

72° (X +35°)

(a) 47° (b) 37°
(c) 38° (d) 42°
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. g 9 qe = %, 500; TN = 20% 1, fora qe= = 2

If Cost Price = Rs. 500; Profit = 20%, then Selling Price = ?
(a) 650 (b) 600
(c) 700 (d) 800

0.000064 F1 F7HE T & |

Find the square root of 0.000064.
(a) 0.08 (b) 0.8
(c) 0.008 (d) 0.80

afE TRt ot =1 &errct 144 1 WX €, A SHeAt ST Rt Sl ?
If the area of a square is 144 sq.m., then what will be the length of its side ?

(@) 12 Hreumeter (b) 11 H=¥meter
(c) 13 Heymeter (d) = & =g 7E/None of these
M eTeeh T w9 e F W € 1wk e w1 W e A R ww e 2
Three boys can do a piece of work in 2 days. How long will it take one boy to'do it ?
(a) 3 f/days (b) 1.5 few/days
(c) 6 f&A/days (d) 4 fedays
15 1 15 FRe wiem & 2
What per cent of 15is 156 ?
(a) 15% (b) 1%
(c) 100% (d) 30%
T FHEIOT T39S 1 W v 50° ¥, A I SO0 S S =G g 2
One angle of a right angled triangle is 50°, what will be the measurement of third angle ?
(a) 60° (b) 50°
(c) 80° (d) 40°
Sin 90° =1 7 :
The value of Sin 90° :
0 b ~
(@) ®) 3
! dy
© @ 5

(292 + (22 W | ¢
The value of (2%)2 + (22)%is :
(@ 0 (b) 1
(c) 64 (d) =98 ¥ =12 751/None of these




